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1. 1 e efue weR fasgste ool oifw Wieqer’ stearems stidie Taifis ggivd el SER
FIOI A, IR 30 T IgfaE el 22 W YRANS STed. Qe el ard guume
(a) fowell (b) (c) TEm™ (d) TS
A I
(1) @ (k) @) ) (© @b, @ @ d© @ «©/d /@b
‘Green Peace and Air Visual Analysis of Pollution’ report declared the most polluted cities of

World. Among 30 most polluted cities consists 22 cities of India. Arrange the following cities
in increasing order of ranking in Air pollution.

(a) Delhi (b) Noida (c) Gurugram (d) Gaziabad
Answer Options :

(1) @, ®) @ @) © @ b)) @) {b)@)dE© @ (@b

2. HHATEEITA Teodl U= Y, herEsardl (@ Toer ST’ 2 A U q|n
FEEVART S SR, A TAUHA A1 3.
(1) TH&H (2) =A™ (3) AR (4) <

Kazakhstan renames it's capital ‘Astana’ after its first President to honour him. The name of
the new capital is

(1) Nursultan (2) Tokayev (3) Nazarbayev (4) Jomart

3. 9w Sied : (TS [ERR, 2019)
(a) Yot i AE FAR AEE A TH ATy SitE S e
(b)  HTHURS R AN THE W A 9GH IO [WERNA HI FOAR 3,
(c) TH. forerpr anfor Qa7 T A TH YW QEERH IR w0 ST,
(d)  HETS SIS ST YT H A IgHA T S A 3,
TETE Iy
(1) % (a), (b) (2) ®F (), (d) (3) WH (a), (b), (d) (4) FH (a), (©), (d)
Select the correct statements - (Padma Award, 2019)

(@) Tijanbai and Anil Kumar Naik were honoured by Padma Vibhushan Award.

(b)  Dharampal Gulati and Bachendri Pal were honoured by Padma Bhushan Award.
(¢} S. Thimakka and Devendra Swaroop were honoured by Padma Bhushan Award.
(d) Manoj Vajpeyee and Sudam Kate were honoured by Padma Shri Award.
Answer Options :

(1) Only (@), (®) (2 Only(),(d) (3) Only ), (b), ()@ Only @) () )
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4. AT FuA @ - (Hi 9l Q)
(1)  daye™ A8 ASt A Ger Iae qURRH T FHIAT w7,
(2) g AE A S o STt (JUERR TERT) FaTHl T HifgHE T o
(3) HIT A TR 1995 TEH TE .
(4) IR IEE, Ho Mo ¢ Gl TO A WERRE GHF 2
Select the incorrect slatement - (Seoul Peace Prize)
(1) Prime Minister Narendra Modi was honoured by ‘Seoul Peace Prize’.

( ) Narendra Modi donated two lakh dollar {(Prize Amount) to Namami Gange Campaign.
{3)  Scoul Peace Irize was imitated on 1995,
(1) Kefi Annan, Angela Merkel were also Scoul Peace Prize winners.
5. L. 1()()%%%@@@%@8@@%%
5] 1%%—"111:1 feafea (2) TS TS
(3) AT HEW (4) A= FAFTE
- became second male lennis player to win 100 singles tilles.
(1) Stefanos Tsilsipas (2) Rafael Nadal
{3) Roger Federer (4) Andre Aga551
6. el e
() T (&) o@®
(a) FTe@ 519 g o= B W= (i) e FEE Wi
(b) rRe Tushet (i) R ST
() i fesdt o sifre (i) S AT
(d) wAtafsee gHA - TR (v) e faker
BT AT g 31 AcE {Sggd W 0
gt 39
(@ (b (© (d)
M6 G G ()
@) (v (i) @ 0
(3) (@) @ (i)
(4y (W) vy @) G
Match the pawrs :
{A) Book (B} Author
(a) Capital in the Twenly First Century (i)  Caroline Criedo Perez
{b) TPocket Pikelly (iiy Kevine Orarchy
{c) A Short History of Brexil (iii) Jesper Roine
(d) Invisible Women - Lxposing a

Data Bias in a world design for men  (iv) Thomas Piketty
Answer Options :

@ (b () (d)
(1 O (@) () )
() () (i) () ()
() i) () ) (1)
(4) (ﬁ)(w)(n (m
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7. e g9 34 T Sefud s faem,/ A et sie/q?
(a) TeE - STEHRER TCAM A M & Fhed
(b) M g Tl TR A0 T ohel
(c) Tamior Frem 20,000 DA TR e
(d) vEeTERt wyol & fava S U
TiEr Y
(1) (a) 30 (d) (2) FA@ (d) (3)  (b) =0 (d) (@) (b) 7 (c)
Which statement/s is/are false about proposed ‘Bullet Train’ ?
(a) High speed Railway project between Mumbai and Ahmedabad.
(b) Technical assistance and easy loan by Japan.
() 20,000 people will get employment during construction.
(d) World Bank will provide full loan for project.

Answer Options :
(1} (a) and (d) (2} Only (d) (3) (b)and (d) 4) (b)and ()

8. 19 INET® ffhe avs w9 WA 2018 Wt fNw@l.  WRaren 19 aviEeie @u @ faraes
feraeiar fraaen ane ?

(1) fam=ia (2) e (3) SRRl (4) OO AR

Indian team has won the under 19 cricket world cup competition on 2018. For how many
times the under 19 Indian crickel team has won the world cup ?

(1) 3™ time (2) 4" time (3) 5Wtime (4) None of the above

9. Y wE/A e :
(@) TFam foames T femed tearde e faamde e,
(b) UHAM fomMae ¢ YRARe 100 3 e 1w,

Wf?ﬂa?ﬁ :
(1) T (a) (2) TR (b)
(3) (a) (W (b) <= 4)  (a) o (b) S A

Select the correct stalement/s :

(a) Pakyang Airport is the First Airport in Himalayan State.
(b) Pakyang Airport is the 100" Airport in the India.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) ' {4) Neither (a) nor (b)

THeeAT HIATEE! A/ SPACE FOR ROUGH WORK
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10.

11.

6 A

ST @A 2 (91 A1 HEFT R

(31) wfart (F) Foruz
(a) SeF g (i) A
(b)  vpme TR (i)
(©) spe e eHfeae (iiiy THTF
() SF= 9w e (iv) =R
LIRS

@ ® © @
(0 i vy (i)
@) G 0 Gv) G
() @ 6 )
4G G @)
Match the pairs : (91°F Oscar Award)

(A) Category {B) Film
{a)  Best Film (i) DBao
{b)  Best Short Film (i)  Roma
{c)  Best Animated Short Film {iii) Green Book
(d)  Best Foreign Film (iv) Skin
Answer Options :

@ B (© (@
MG W) 0 )
@) @i oW v )
@) @)@ ® W)
WG 60

Fge fehd 4fcesm wiied, 2018 959 <900 HOME ¥9W o0 a1 46 @ denrmdie
T IHT RIvE YeuE A R ?

(1) I (2) T (3) Yo (4) i

Shruti Shrikhande has topped among, girls in combined defence services examination, 2018.
She hatls from which of the following cilies in Maharashtra 7

i1y TPunc 2y Mumbai (3)  Ratnapiri ()  Nashik

oAl SHTHTHTST S/ SPACE FOR ROUGH WORK
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A
12, Sieifash T saeEd AEEEE B, AT F TR 2
(a) A 1995 - 2001 W& G TATHA B
(b) ajzoo5vm3%ﬁa12015uﬁamﬁﬁgaamwzﬁﬁwaamqamﬁ.
() wum gfaes gfr - s fren qfiges d ITEAY TN
(d) R g vroneft wfteR e e,
ar S
1) (@, () 2) () ©
() © @ (1) e e
Antonio Guterres was recently in news. Which is not true about him ?
(a) He was a Prime Minister of Portugal in 1995 - 2001.
(b) He worked as United Nations High Commissioner for Refugees rom June 2005 to
December 2015.
(c) He Co-chaired the First Furopean Union - Africa Summit.
(d) He founded the Portuguese Refugee Council.
Answer Options :
(1) (), (b) (2)  (b), (c)
(3} (o), (d) (4) None of the above
13, 'foeM SguT’ WOTOSRT R Heia 3T ?
(1) oEH (2) o wadA
(3) A A (4) StofEe
In which of the following ‘Mission Indra Dhanush’ is concerned ?
(1) Vaccination (2)  Water Conservation
(3)  Artificial Raining (4) Irrigation
14, TIEESR, RAS UEeT et gE/ @ faue HOt o IATA ¥ Sieel T ST, IATA 41
a4 el
(1)  STIEATT TR Tooet STHIETE
(2) sfeaT TR Ieged SrnfaTE
(3) FeAYRl TR IHEE STHIETRA
(4) 3fsam gamr g sEifquH
Spicejet, the first Indian low-cost air carrier joined TATA. TIATA stands for :
(1) International Air Travel Association.
(2) Indian Air Travel Association.
(3) International Air Transport Association.
(4) Indian Air Transport Association.
15.  Zier=n |l 2018 Sfor 2019 S8t wie Ao TS gofta foo ée.
(1) et (2) THEEF (3) efmy (1) e
Two Nobel Prizes for 2018 and 2019 will be awarded this year in _ __ category.
(1) Peace (2)  Chemistry (3) Medicine (4) Literature
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16. T Fum fa=mm =

(a) TS B T TafaHgarn Usfoads am e,
(by TN Fehterar Feferdar TEa,
(
(

<) TFITSE SHegTdt Tl ISEed g<q v,

d)  THEE T BT FHROMEE TREET 539 Tl AT Ie952d e oo
e,

Tgigt 39

(1) a0 93 faum Fim s (2) TaEM (a), (b), () TS 38

(3) T3 (b), (), (d) FUEX 37 4y Taum (a) anfir (d) = M,

Consider the following, statements :

(a) The Governor is not an integral parl of the State Legislature.

(b)  The Governor has no security of tenure.

(¢} The Governor may be removed by the President at any time.

(d) The Constitution does not lay down any grounds upon which a Governor may be
removed by the President.

Answer Options :

(1)  All above slalements are correct. (2) Stalements (a), (b), (c) are correct,

(3) Statements (b), (c), (d) are correct.{4)" Statements (a) and (d) are correct.

17. ‘=0 T e wete faum fo=m =

(a) T & wEd e dren wewigl Maeuam dumen wenry fayr qftucdie aewre
fraguere T & welt Tt HeeiEn MagvEt TR e .

(by  Tew Frat=m s g w0 TEee F FEe a8 9 T FEEE e aweEe 17

HE YT eI
gt 39T
(1) faum (a) == % (2) faum (b) TR AR,

(3)  <r=IE faur SiET e, (4) A= fauam gwe oA
Consider the following statements about “State Election Commission” :

(a) It conducted rural and urban local body elections including the election of members of
Maharashtra Legislative Council elected by the members of rural and urban local bodies.

(b)  The State Election Commissioner cannot be removed by the Governor, though appointed
by him.

Answer Options :

(1}  Statement (a) is correct. (2)  Statement (b) is correcl.

(3) Both the statemenls are correct. (4)  Both the statements are false.

el HHEET 9/ SPACE FOR ROUGH WORK
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18, TR srdirer Rrheiamy Eoteist Hod fRreR € gt TR Foan ST IR 7
(1) STRIPT Tsa) foe i Tearean = S JAfHHRE Seawe! g aaao!
B,
(2) AN ToTH =1 STw85-356 9 A satade SUEd g aaaw! sl
(3) AR TSAIE UE WY SV € AR e B,
(4)  STEIE A AT YA ST SEel Srafael s,

Which of the following has been wrongly listed as a recommendation of the ‘Sarkaria
Commission’ ?

(1) It favoured change in the role of Rajya Sabha and Centre’s power to reorganise the
states.

{2} It favoured sparingly use of Article 356 of the Constitution.
(3) It turned down the demand for the abolition of the office of the Governor.

(4) It favoured implemenlation of the three language formula.

19, WOOUh! SV faU™ I @14 ?

(a) Tourm wftwe Feio weoamrEl gefya Toaren faum a9 R TEA e SO Ses
2/3 GEHAH ST I F0) AHYTE AR,

(b) TaHM ditag fAfv FRoamet Wesd 2/3 HEe=a1 SgHar 8 T Y0 TRerY o7,

it 39y

(1) ™ (a) (2) W (b)

(3)  (a) afm (b) S (4) ST THE

Which of the following slatements are correct ?

(a) For creation of Legislative Council, resolution must be passed by 2/3 majority of the
members of the Legislative Assembly present and voting of concerned state is necessary.

(b}  For creation of Legislative Council, resolution must be passed by 2/3 majority of the
members of the parliament is necessary.

Answer Options :
(1) Only (a) (2)  Only (b)
(3) Both (a) and (b) {4) None of the above

oAl RIHTETS! AF/ SPACE FOR ROUGH WORK
P.T.O.
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20. SIS oo ;
(a) ol Wi faw (i) Sfegetn o
(b) Bl ISE TEE (i) = AT AHIE HEETR
(0 WMRawim (iii) T TS FEATEED sTege]
(d) FETEEe T (iv) weA qiEes aeqid e
it 3
(@) (b) (c) (d)
(1) @ @) (i) ()
(2)  (v) (i} () (D)
(3) (i) ({dv) @G (D)
(4) (v} (mi) (i) (D)

Match the pairs :
(a)  Dr. Sachchidanand Sinha

(i)  Objectives Resolution
(b) Dr. Rajendra Prasad (i1

(ii

(i

) Constitutional advisor of Constitutional Assembly
ii) Permanent President of Constitutional Assembly

{c) Sir B.N. Rac \
v) Temporary President of Constitutional Assembly

(d) Jawaharlal Nehru
Answer Options :

1
1
1
1

(@) (b) (o9 (d)
(1) () () (i) (l\ )
(2)  (iv) (i) (1) ()
(3) (i) {iv) (i ) (i)
(4) (iV) (111) ( ()
21. e AT
=T HUIh fawz
(@) 243 () " HErg
(b) 243 ® (i) AT T
(¢ 243 @ (iii) AT
(dy 243 < (iv) ST 3AET0
it 3 :
(@) (b) (c) (d)
(1) i) Gv) (1) @)
(2) () () (D) )
(3) (i) (v) () ()
4 @O @) () (i)

Match the pairs :
Articles Subject matter

(a) 243 A (i) Eleclions of Panchayats
(b) 243 D (i)  Constitution of Panchayats
(c) 243 B (i) Gram Sabha
(d)y 243 K (iv) Reservation of Seats
Answer Options :
@ () () (@
W G (v 6 Q)
(2) (i) () (D) (@)
(3) (m) (v) (i) (i)
(4) () (11) (111) (i V)

el a;mmra?r AT/ SPACE FOR ROUGH WORK
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22. TS TETHEERT WWWW‘%W?‘
(1)  T=ar=a1 39 e qed i (2) wefER T T
(3)  aTET e (4) ST T gEEEH
Whom does the Advocate General of the State submits his resignation ?
{1)  Chief Justice of High Court of the State (2) Governor of the respective State
(3) President of India {4)  Chief Minister of the respective State
23, WG ToA9eT=a1 SRT-32 Had EHSIH! HIO FhE=al SR e OT=IU Horo!
W ?
(1) TrimE (2y ufady (3) FfFER-g=T  (4) I
Which of the following writs in not specifically provided under Article-32 of the Constitution
of India ?
(1} Injunction (2)  Prohibition (3) Quo-warranto (4) Certiorari
24. WA TTETAT ATHE-39 AL WAGTHT 1]/ Il TS/ TIe=n guiae T 2
(a) %9 9 T a1 QEE] THE SIS THA S,
(b)  UTHIETTA HE.
() VI FeAT=a] IHTHIST THS FHTed] TR oL,
(d) Susiifos= T TTHA THawaT= g9 S 9 T8 TR 9REr 319w,
qatr S
(1) ¥ (a) (2} (b) &M () (3} ®F(d) (4)  (a) 3 (c)
Which of the following provision/s is/are not contained in Article-39 of the Indian
Constitution ?
(a) Equal pay for equal work for both men and women.
() Organisation of Village Panchayals.
(c)  To secure a social order for promotion of welfare of the people.
(d)  The citizens, men and women equally, have the right to an adequate means of livelihood.
qually 5 9
Answer Options :
(1) (a) only (2)  (b) and (c) (3)  (d) only (4) (a) and ()
25. YNIETEGE A Ao et sy w1 e

(1) SRTEEE S AR S0 AT S Se

(2) TR dohi= TR0 uaT W weor

(3) TR AT anfor s ey oy

(4) TR AR TR FdlA1 @ Aren 3 e 4oy
The primary objective of judicial control over administration is :

(1} To restrict the discretion and arbitrariness of administrative agencies.
(2)  To help in redressing the grievances of citizens.

(3) To safeguard the rights and liberty of the citizens.

(4)  To contain and penalise the wrongful acts of government officials,

FoAl TG AR/ SPACE FOR ROUGH WORK
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26.

27.

28.

29,

30.

12 A

TS STOET=AT WTad YEETH HIvE AN SEt s ?

(a) (TN & T,

(b) TEAA WESHF qEHH Wid T %,

(c) 1852 W¥A AR favrm=t Tomg Fet.

(d) 1854 ¥ URe HETT GG F& 2uie fafhel geamn ¥,

Wf‘ﬁ'ﬁf"(:
(1) (a), (b) 300 (c) ®d (2)  (b), (c) 3T (d) T
(3)  (a), (c) MM (d) FH (4) &l ¥d /R

Which of the following statements are true about Lord Dalhousie ?
(a) Starled the Railway [ra.

{b) Establishmenl of independenl public works departmenl.

(c}  Establishment of Telegram Department in 1852.

(d) Passed post law and starled postal stamps in 1854.

Answer options :

(1) (a), (b) and {(c) only (2)  (b), (c) and (d) only

(3) (a), {c) and (d) only (4)  All of the above

W A v uftaest T A9 FoEW e,

(1) feeed (2) Tl (3) W= (4) TR
Indian Council of scienlific studies established at |

(1) Delhi (2) Calcutta (3) Madras {4) Bangalore
3. 1852 WEWWWWWWWM7

(1) =i SEHyA (2) 3R gfean pEifHTRA

(3) TESIE | (4) @i ATEeS= sTEfTTeH

Which TFirst Political Organisalion was formed in Maharashlra in 1852 ?

(1) Bombay Association {2) TLast India Associalion

(3) Sarvajanik Sabha (4) Bombay Pre51dency Association
363‘?39}31? 1867 q%ﬁmﬁawﬂwﬁﬁ?

(1) = seaH qigin (2) i & <wHE

(3) TRIHE RN (4) =i foawm 3=

Who established the ‘Prathana Samaj” in Mumbai in 1867 7

(1)  Dr. Atmaram Pandurang (2)  Gopal Hari Deshmukh

(3) Dadabhai Naoroji (4) Dr. Silaram Desai

Eﬁmﬁaﬂ'ﬁm mmwammmaﬁqwﬂmﬁmwgw
FH?

(1) = srEdETg S (2) S @

(3) WIS TNl O (4) Drefeaend) M e wIE

After bearing public criticism which social reformer served lame, blind and leprosy
persons ? .

(1)  Dr. Apandibai Joshi (2)  Anutai Wagh _

(3) Bhau Da]l Lad (4) Lokhitwadi Gopal Hari Deshmukh

he AT m ST/ SPACE FOR ROUGH WORK
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31. St T weeTd shiomd el fem Soa S ?
(1) o Tivaes 4, fare e e
(2) Sl gE, o S
(3) =T g S, g
(4) o Feh, T @
Who were hanged in Jacksan Murder case ? !
(1) Krishnaji Gopal Karve, Vinayak Narayan Deshpande
(2) Brahmagiri Buwa, Ganesh Vaidya
(3) Dattatray Pandurang Joshi, Siddhanath Kane
(4) Vaman Phadake, Niranjan Pal

52. angﬁaxwmwfsarr@aaﬁrﬁw?

1) S mEew (2) =LE weew (3) s (4) AL U
Who is First national poet of modern India ?

(1) D.P. Tarkhedkar (2) V.D. Savarkar (3) Vinayak (4) H.V. Derozio

33. 1857@33@%%@@\%&%
(@) U YA e
(b) T wenEE e fee ARl
(€) T ATEIEAT SO

(d) TR gAEA

it 39T

(1) (a), (b) 3 (c) (2)  (b), (c) AT (d) e
(3) (), {c) ST (d) e (4) (a) W (b) werd

The effects of uprising, ol 1857 are as follow.

(@) The end of company rule

(b) The Indians were net given jobs in administration
() Became the inspiration for Indian Freedom struggle
(d) Reorganisation of the military

Answer Options :

(1) (a), (b) and (c) only (2} (b), {c) and (d) only
(3)  {(a), {c) and (d) only (4) (a) and (b) only
34.  URA™ U HirEs e afadym s fost w2
(1) Heg (2) SNEET (3) TEHIEIE (4) ==
In which place fourth conference of Indian National Congress was held ?
(1)  Mumbai {2) Allahabad (3) Ahmedabad (4) Madras

ol SHTHTHT ST/ SPACE FOR ROUGH WORK
P.T.O.
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35. oI Vel SGAUATHIST HETeHT SaIae Fob I Woedshi shiol Heed e 21 ?
(a) TENH gvEd wiiey, WeIfeE mifae v
(by  H=il¥e FeAte MaS, ARt foge Aeadt
(¢} Tawrda em, Hye fewm Mt
(d) e SRR, | TE. W

‘CI'Q'HT T
(1) (a) A0 (b) (2)  (a), (b) M (c) TR
(3) (by, (c) 3T (d) Fa (4) T 79 FUH

Who among the [ollowing helped Mahatma Jyoliba Phule for running girl’s school ?
Sakharam Yashwant Paranjape, Sadashiv Govind Hate

(a)
( ) Sadashivrao Balal Govande, Moroe Vitthal Valvekar
{¢) Vishnupant Thatte, Keshav Shivram Bhavalkar
(d)  Devrao Thosar, Mrs. E.C. Jones
Answer Options :
(1) {(a) and (b) only (2) (a), {b) and (c) only
{3)  (b), {0) and (d) only (4) Al of the above
36. %@Waﬂwﬁ WﬁﬁTﬁ‘I@?ﬁT H‘R“IWWW7
(1) e, T (2) e, W
(3)  FHOH, AT (4) feoehl, ferrae wew
In which provinces was ‘Rayatwari System” starled during British reign ?
(I) Madras, Mumbai (2) Bengal, Punjab
(3) Calcutta, Nagpur (4)  Delhi, Himachal Pradesh

37. mﬁﬁww&%wmmmﬁm ?
(a) Edl HeATE
(b) 9T TTIET Hi HeAwe
(c) kA AT Hearue
(d) wsH AR Hig Heare
A S
(1) (a) #HMT (c) (2)  (b) 3T ()
(3) (), (b) = () 4)  (a), (b), (c) F (d)
[n which Satyagraha Maharshi Vitthal Ranyi Shinde was participated ?
{a) Parvati Satyagraha
(b)  Wai Ganapali Mandir Satyagraha
(¢)  Waykom Mandir Satyagraha
(1} Laxmi-Narayan Mandir Satyagraha
Answer Options :

(1) (a) and (<) (2)  (b) and {c)
(?)  f(a), (b) and (c) {4) ( (b) (c ) and (d)

oAl SHTHTHEE, AT/ SPACE FOR ROUGH WORK
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39.

15 Y12

1935 = oAt How faer Se 37w 7
(a) oo gfeaq, wtdta faver, frg ¥ woarss Tan .
(b) T ATaTeATE T,
(c) T I AT ere A
(d) ‘TR0 T A FERr S SR JSerEr i .
Tt I
1) (@), (b), (c) Toum =TT T
(2)  (b), (c) Taam ==L aAEe.
(3)  (a), (o) Toum =0=R aee.
4)  (a), (b), (d) Taam aU=R .
Which statements are true regarding 1935 Act ?
(a) Anglo-Indian, Indian Christian, Shikh Constituencies were created.
(b)  Establishment of Federal Court.
{¢) Creation of Indian High Commissioner.
{d) Rajgopalachari stated that ‘Worse than dyarchy” regarding the Law.
Answer Options :
(1} (a), (b), {c) statements are correct.
(2) (b}, {c) statements are correct.
)

(3) (a), (c) statements are correct.
(4) {a), (b), {d) statements are correct.

WWWW@W%W%
(a) Y Y I3, TIRTIIR AR

(b) IAYEE sl T sTod g

(cy  Trorer I, foTaeR WiawEt

(d) Svarsrs faemamrr, gufog dorm

it 3L :
(1) (a) 3791 (b) Feord (2)  (b) M0 (c) T
(3)  (c) AW (d) F= (4) (a) {0 (d) FH

ln the Formation of Indian National Congress the following leaders were involved.
(a) Jagannath Shankar Seth, Dadabhai Naoroji

(b) Umesh Chandra Banerjee, Sir Allan Hume

{c}  Ganesh Joshi, Vinayak Savarkar

(d) lshwarchandra Vidyasagar, Durgaram Mancharam

Answer Options :

(1) (a) and (b) only (2)  (b) and (c) only

(3) {c) and (d) only (4) (a) and (d) only

FoAT HIAEGS T/ SPACE FOR ROUGH WORK

P.T.O.
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40. SN T

(a)  ammET farg i) vINEl Heq

(b)  TRIATE fast (i) 185 oIS Wiy FoEsE
(c) UM AR (iti)  TH-gEY gor Uy

(d) THEE 1S (iv) WFaEs 9 Afee queE

(@) (b) (o) (d)
vy @@y () ()
(2) @ (v G
3G v (i)
)W @) ) )
Mateh the following,
{a) Tarabai Shinde {i)y ~Sharada Sadan
{b)  Tanhubai Birje (i} Tormation of ‘Hindu Ladics Social Club’
(¢) Pandita Ramabai (1) "Stri-Purush Tulana” book
{d)  Ramabai Ranade (iv)  India’s First Woman Edilor

Answer Options :

{a) (b} (c) (d)
(1y (iv) (i) iy (§)
(2) (i) () (@) (i)
3y @) () vy (i)
() gu) g (iv)

N

(1)
(2)  =fEidre 7A wEdl 43
(3)  HW SRS T
(4) T EL

]

1) West flowiny rivers of western ghat

NN

(
{2)  Easl flowing rivers of south
(3 Rivers in muddle [ndia

(h)

Ganga river valley

Feedl IOTHET FEM/ SPACE FOR ROUGH WORK
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42. mmaﬁmwwmw;

W (371)

I
() =X
(b) Temeemedt
(c) TwREl Woeull
(d) TEm "
it 39T

@@ (b} (9 (d)
(1) (@) Gv) @)
(2) @) () Gv) @)
3 @ @ @) @)
(4) (v @ @) ()

Match the pairs of small scale industry and their places of Maharashitra.

Column (A)

Small Scale Industry
(a) Chaddar
(b) Himrushawl
(c) Wooden Toys
(d) Silk Sari

Answer Options :

(a)
(1) ()
(2) (1)
(3) (i)
4) ()

(b) -

(iv)
(1)
(i)
@)

()
(i)
(iv)
()
(i)

(iv)
(ii)

(i)
(iif)
(iv)

17

W (=)

Column (B)
Places
Nagpur
Sawantwadi
Solapur

Aurangabad

Y12

el ShTATEIE! ST/ SPACE FOR ROUGH WORK

P.T.O.
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43, AT = Aol
W (a1) Y (@)
T Ty weifira fes
(a) TSR (i) TTR
(b) U= (i) STTE
(c) T (i) ==X
(d) TmHES (iv) e
Tt I
(@ (b) () (d)
(1) (v) (i) () (i)
(2) () G @ ()
(3) () v) (1) (i)
(4) (i) (@) {v) (i)
Match the pairs :
Column (A) Column (B)
National Park Concern District
{a) Tadoba {i) Nagpur
(b) Pench (i) Amravati
(c)  Navegaon (ii)y  Chandrapur
(d) Gugamal (iv)  Gondia
Answer Options :
a) (b) (o) (d)
(1) (v) () () ()
@ (i) (@) @ v
G) G Gv) () i)
G G @) @)
44, mﬁmmw%ﬁﬁamwm
(1) Sira (2) Al (3 wATE (4)
- fort is called Lastern Gibralter by Britishers.
(1) Janjira (2)  Karnala (3) Ralgj ad (4)
45. e Wﬂﬁr@’ Hah ST ué"ﬂ TR e;n%
(1) 13 FITEE= 58 (2) arEl
(3)  TerE! Ha (4) S FR
. soil is covered largest area in India.
(1) Blatk colton soil (2)  Redsoil
(3)  Alluvial soil (4)  Latevite soil

THedl MIATEES! A/ SPACE FOR ROUGH WORK
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46, TS ST FIOT A T 3R ?
(a) TS TR LA HHCR STHA.
() OIS TR TR FEhHT S,
(c) FEaHiE TR W TeEar fesand.
(d) RS T TR Sean TR ST,

utri‘éfra?ﬁ:
(1) Yo (2) TR
(3) =R (4) R

Which type of settlement pattern is having following features ?
(a) Roads are parallel to each other.

(b) Roads are rectangular to each other.

(¢ Houses are in rows.

(d) Highway or Railways are crossing to each others,

Answer Options :
(1) Linear (2) Radial
(3) Circular {(4)  Chess board pattern

47. G faumE Hora aoeT
T (A) : TRHTa SRS SR T Tt e @R 3 T T S ST wo e,
faram (B) - Thered T @R At s T Wi ¥ Ty TRRE SR T S o 3.

(1) faum (A) anfor (B) 2 T e
@) faur (A) =nf (B) = s e,
(3) TauH (A) ¥ 3T (B) 3THH R,
(4) Taum (A) a9 ST (B) WA 9T

Examine the trueness of following slatements.

Statement (A) : Godavari river basin is separated from Tapi river basin due to the Satmala-
Ajintha mountain ranges.

Statement (B) : Godavaririver basin is separated from Bhima river basin due to the Shambhu-
Mahadeo mountain ranges.

(1) Statement (A) and (B) both are correct.

(2) Statement (A} and (B) both are incorrect.

(3) Statement (A} is true and (B} is incorrect.

{4) Statement (A) is incorrect and (B) is true.

AT WWEE A/ SPACE FOR ROUGH WORK
P.T.O.
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48.

49.

50.

51.

52,

53.

20) A
TERTET S AT afr A g ey s
(1) Hengl a7t Hgran (2} WAYET N eieere
(3)  ATHEL 0 T (1) TEZTE 3o HeRe
To the noerth of Maharashira mountain range and to its east __ __ hills
are found.
{1)  Sabvadri and Nandurbar (2)  Satpuda and Gavilgad
o) Balaghat and Bhamragad (4} Gavilgad and Mahadeo
(1) ey (2) AR (3) W (4)  HgHl
River Hugli is the distributory of ) river.
(1) Damodar (2)  DBrahmaputra  (3) Ganga (4) Padma
(1) @ATRvH/3Te o+ (2) AT/ EHT AH
(3) WP e (4)  =UEUE TFRE AR
Human migralion from one place to other place, due o unavoidable circumstances takes
place because of ~ factors.
(1) Pull faclors (Zy  Push faclors
(3)  Scienlific factors {4)  None of the above
(1) 9Es (2y T AR (3).  wEETE (4) TR
- state 1 India is a major Bauxile producing stale.
{1)  Zarkhand (2)  Madhva Pradesh (3)  Chhattisparh  (4)  Gujarat
A e g ' Y1 FEE AE

(1) T () 3¥ (3)  FFpueA (4) =T AT

“Operation Fload plan” s related with

(1) Tiood (2) ANk {3)  DPoultry (4)  Nonc of them
INAd® 960 saaed +e fyaagze’ A TEE TR

(1) (2) o (%) qr (4)  Miged
[ndia’s hirst hvdroelectric power station “Shivsamudram” is on S river.

(1)  Kaveri (2)  Krishna (3)  Tungbhadra (4) Godavari

oAl ShIATHIS AT/ SPACE FOR ROUGH WORK
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54, WS W () T WH (T ) = A S Food

WY (37) WY (F)

E:CRIR] AT YT
(a) THO (i) wrgiHS TEQE HEHd
(b) TETH () Tt T SAaEE
(¢) faemEl firod (iti) g TAET HATHE
(d) e (iv) =gd eI S
qoidt Iy :

@ (B (9 (d)
1 G @ Gv) (i)
(2) @) @ ) @
@) Gv) @) G) Q)
@) O (v () ()

Match the pairs of Column ‘A’ and Column ‘B’

Column (A) Column (B)
Occupation Type of Occupations
(a) Lawyer (i) Primary Activities
{b) Transport (i) Secondary Activilies
(¢) Flour mill (i) Tertiary Activities
(d) Hunting (iv) Quaternary Activities

Answer Options :

@ () (9 (d)
@ @@ @ ) ()
) @) @) Gv) ()
(3) () () G (1)
@ O v @ @

55.  STRATET T e Jadtg [l S 93w AR,

(1) e (2) TR (3) Hare (4) F=ATE
is a worlds largest "Delta region” of India.
(1) Vrundavan (2) Rajmundri (3) Sundarban (4) Machhalipattan

56. DWINET HIAFAT TAH@Th! IR GhR 3T T ?

(1) dunfm (2) e/ wmved / fre
(3) Tifv=d e wafas (4) o

Type of an Audit Programme may be

(1) Statutory (2) Permanent

(3) Fixed or Flexible (4) Standard

oAl FHIMMERGT JET/SPACE FOR ROUGH WORK
P.T.O.
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57. UHRHE WHIV faemE FEwaE G@oie S0 o] omed ?

(a) YU VaHd (b) I FTIYYRF Tl

() i st (d) IS Sawd

Fht! Fvnt faum/faur stew smwa ?

(1) (a) HH (2)  (a) 3O (b) (3} (), (b) ST () (4) (a), (b) MW (d)

The following are the beneliciaries of the inlegrated rural development program :
(a)  Minority farmers {b) Small landowner farmer

(c) Landless agricultural labourers (d) Big farmers
Which of the above statement/s are correct ?

(1) Only (a) (2)  (a) and (b) (3)  (a), (b)and (c) (4} (), (b) and (d)

58. HAHHRUITY WISGUH] IOl STETIAFK Ty TR Il 21707 T ey foe o ?
(1) wegs (2) eTH 3) = (4) Torcoshi=

Cenerally in which of the following budget shows the Receipts and Expenditure of the Cenlral
Government ? ‘

(1) Revenue (2) Capital (3)  Deticit (4) Surplus

59, W@@e faum foara =0
(a) 1956 =1 ST 0T ST 29 FRTerh HHdl HiedTed i,
(b) 1955 Weltw T qfor e SEn Aol Fd qd gor wU.
(©) TF og lenfiEn i Hel Sl S 10 FE STEE (v e o,
et Fy/A Ty e oA 2
(1) (a) 270 (b) (2)  (b) ¥ (o) (3)  (a) =0T () (4) oo wd
Consider the following stalements.

{a) The purpose of Induslrial Policy Resolution 1956 was to promote regional equality.

(b} TIn 1955 the Village and Small Scale Industries Committee also called the Karve
Committee.

(c) In a small-scale industrial unit maximum investment allowed is rupees ten crore.

Which of the slatement/s given above is/are correct ?

(1) (a) and (b) {2} (b) and () (3 (a) and (¢) (4)  All of the above

Tl Tl I/ SPACE FOR ROUGH WORK
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60. WO faun fammr =
(a) HENIS TSU V&I 9T ¥R SIHERT 2013 7E4 SRR e,
(b) HENISZ TSU FHt WaftaHt AF 2011 Heaf SRR FHel,
(c) RN T St Saasr TEnd foskr Taave FriET Sfas e aed g% e,
T HR/ @ /A adew aR/d?
) @ame @ Gt @) @A ) FHew
Consider the following statements.
{a) Maharashtra state has declared the organic farming policy in January 2013.
(b} Maharashtra state has introduced Krishi Sanjeevani Yojana in 2011.

(c) Maharashtra state has launched Agri-business Infrastructure Development Investment
Programme with the assistance of world bank.

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2) (b) and (c) {3) (a) and () (4)  All of the above

61. T faum fa=mm =i .
(a) T TH W T AR Sk i w1 SR,
(b) ATIRY Sl 91 @A a1 o1 5 W I ATl FEE W T,
(c) ume HeAadl g Tt Fafor Fen . '
TR HIvR/ A faum/ S e e, e ?
1) @afe @ e @) @ @) e
Consider the following stalements.
(a) Letter of credit is a primary function of commercial bank.

(b)  There is no difference between current account deposits and saving account deposits
of a commercial bank.

(c)  Credit money is created by the central bank of a country.
Which of the statement/s given above is/are incorrect ?

(1) (a) and (b) (2) (b) and (c) (3) (a)and (o) (4)  All of the above
62. RIS I= SR WSB! v SF W S JTamEER 31 ?

(ay TG (b) Al HEd W SFHU 9

() Iy (d) it suftn wrfas sivsgn

ggiEt 39N

(1) (a) 37 (c) (2) (b W (d) (3) (a) =T (b) (4) (o) =T (d)

Which two of the following social factors are responsible to the high birth rate in India ?

(@) Poverty {(b) Lower age at the time of marriage

. ()  Predominance of agriculture (d) Religious and social superstitions
Answer options :
M) @ad(@© @ Gladd) () @and®) 4 () and (d)

HeAl RFEIE AR/ SPACE FOR ROUGH WORK
. P.T.O.
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64. G HaEed WIS FHIUH =19 TSI Hen Ge e 3% 7

65.

66.

24 A

HRAT e YA A JraTamie diey FIvE i S SR ) 2

(1) frrsT s (2)  fores sRi

(3) HET DIHEET SET (4) TISUHR! HURE A=

Which commission perlorms the function of the distribution of financial resources at Central
Level in India ?

(1)  Planning Commission (2)  Finance Commission

(3)  Union Public Service Commission (4)  None of the above

(1) SF (2) T FR THS

(3) e AT (4) EE e e

Which of the following thing is related to the Tiscal Policy in Indian Fconomy ?
(1) Bank Rate (2) Tax and non Tax Revenue

(3)  Direct Action (4) Cash Reserve Ratio

e faem fa=mrm =

(a) 1 STHERT 1995 Us ST SN HERA=! T Ao,

(b) ST SR HERAHT I B AW AN S S8 g 0 7.

(c) WRA & SFiaF saT9R A=A HET9s: Faeis! Uh AT

e HIUR/ faum/ 2\ 3T/ R ?

(1) (a) 917 (b) (2)  (b) W (c) (3) () FMW () (4)  ATEHT
Consider the Iollowing, statements :

(a) World Trade Organisation was sel up on 1 January 1995,

(b) The purpose of WTO is lo remove reslrictions in international trade.

() India is one of the founder member of WTO.

Which of the statement/s given above is/are incorrect ?
(1) (a) and (b) (2)  (b) and (c) (3)  (a) and (¢) (4)  None of these

e (foeT0T) B W@ v SR T e o ?

(1) wmat AT fawm (2) ik fasm
(3) et fawm (4) TIEE fawH
Literacy (Education) is mainly which type of the indicator of development ?

(1) Human Resource Development  (2) Geographical Development
(3)  Economic Development (4)  Political Development

ol FHIUTEIST AT/ SPACE FOR ROUGH WORK
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67. TeTeA STeiweu Srelorereda Hoh s wwen frer € ?

(1) SR (2) S drRT e

(3) foma mEE qe (4) FOeUH! FIoTaE) e

Which economic problem creates in the economy due to “Deficit Finance” ?

(1) Decrease in production (2) Loss to Banks

(3) Increase in price level (4) None of the above
68. WL SFEreIgAETS THY fRdl THR AT 7

(1) 2 2y 3

() 4 (4) oo FIaE! ATE

How many types are of Government Budget 7

1y 2 2 3

(3) 4 (4) None of the above

69, IrHTE AT HIMTHN AT S 2

(1) =R (2) WAREEE

(3) W Ing fwarits (4) TSUHT HivQE! TE
In which form “Density of population” can be measured 7

(1) Per Hectors (2) Per Square Feet

(3)  Per Square Kilometer (4) None of the above

70. WIATSH HeWd e AR Ao TS Uk WIGISUsh! Shiva] HewT=] ST e 378 7 ( i e
2016 THI)
(1) = g G 9P/ WA I ITH
(2)  rde st o
(3 §d
(4) Fow ety sfedicre sty wew
With reference to India which of the following is another important import item after crude
0il 7 (Economic Survey, 2016)
(1)  Electrical Machinery Apparatus and Appliances
(2) Iron and Steel
(3) Gold
(4) Medical and Pharmaceutical

71, A Wi 4R 1 S F, e, e 9 et e qe 3T,
(1) 46x10°Q (2) 46x104Q (3) 36x10% Q) (4) 36x10%
If the four colours on the carbon resistor are orange, blue, yellow and gold, the resistance
value is .
(1) 46x10°Q (2) 46x10% ) (3) 36x10° Q) (4) 36x10% Q)

T HTHTETS! ST/ SPACE FOR ROUGH WORK
P.T.O.
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72.

74.

26

T el S
(a) TECETERY (i) Fou/HF2
(b)  fegaemm (i) ey
(c) 3 (i) /9.2
(d) Toegediy (iv) . /HET
i I

@ (b)) (c} (d)
(@) @ v) (i)
(2) (@) @ (v) (i)
(3) (@) (v) @) ()
(4) di) Gv) )  a)
Match the following :
(@) Gravity (1) Coloumb/sec
(b) Current (i) Ohms
() Velocity (i) m/sec?
(d) Resistance (iv] m/sec
Answer Options :

(@ (b)) (o (d)
(N @ @ Gv) (i)
(2) ) @) (iv) (i)
(3) () (v) (@) ()
4 @ @) @ @)
WIS FIET TS ATE ?
(1) =& (2) w3 (3) g™ (4)
QOut of the following which is not a planet ?
(1) Pluto (2)  Saturn {3) Uranus

(4)

AR HIUE] S HEH] e 19 SRS Jot g 931y 18 ?
® S

.. . Q.. ®
(1) :0=C=0: (2}  0-c=0r &) 0-c=zor @)
Which of the following resonatling structure is not correct for CQO, ?

.. . O.. ® ® O
(1) :0=C=0: ) o-c=0r () 0-C=0 (4)

oAl HIUTERT TR/ SPACE FOR ROUGH WORK
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75. WOGTH! HIO fIHH TR A Ta R 2
(1) o sffaeeed ol FHl Fm.
(2) o sfufrar qude feda SRR oy e FwE F
(3) SR AfufmIa W Ha S 5 el
(@) wifyan, TR o IAE § T 9 YIRS,

Which one of the following statements regarding catalyst is not true ?

(1) Catalyst decreases activation energy.

(2}  Catalyst reduces the time required for reaching the equilibrium state in the reaction.
(3) Catalyst participate in the reaction and speed it up.

(4) Catalyst is always in the same phase as the reactants and products.

76. HET LEONESH sEAO WY e I TR
(1) <= |§HAT 3R

(2) T YR RGO AR

(3) A M FAR=A S0 TR SAHRAA

(4) e anfor s T AR e

Net dipole moment of carbon tetrachloride is zero because of
(1) TIts planar structure

2}  Its regular tetrahedral structure

(
(3)  Similar sizes of carbon and chlorine atoms
(4)  Similar electron affinities of carbon and chlorine

77. VEheET QY O gutg e

(a) ST AN g (b) S

(c) wEEeRE wae (d) FEATE SadEo
g I

(1) (@), (b) T (d) (2) T (a) A (c)
(3) e (b) amfor (d) (4) ®H (d)

Choose the correct alternative about the shark :

(a) Mouth on ventral side (b)  Viviparity

(c}  Cycloid scales {(d) Cartilaginous endoskeleton
Answer Options :

(1) (a), (b) and (d) (2} (a) and (c) only
(3) (b) and (d) only (4)  Only (d)

FHoAT SHIATESY W/ SPACE FOR ROUGH WORK
P.T.O.
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78.  gwfTreAr Sl A watg faen
ALz Afeuraar afeew - ‘T@ 07
(1) Ao (2) THE™ (3) mAfys (4) IFFF
Select correct alternative in the place of question mark.
Cockroach : Malpighian lubules : : Farthworm : ?
(1)  Typhlosole (2)  Clitellum (3) Kidney (4}  Nephridium
79.  WETA] [ W Fe faum foel s,
(a) & yreeR Wl HAgsTs WOl ST, (b) HE TFRE geft BT IET.
(c) HH TFesw WO a7RA. (d) &o YR JI0 Fa=H AR,
F@TET HRU /) faumE/ faum ster omd ?
(1) T (b) AT (c) (2) B (a)
(3) T (c) T (d) (4) ®FH (b)
Some statements are given below about animals.
(a)  All vertebrates are chordates. (b)  All birds fly in the air.
(c)  All insects are parasites. {d) Al molluscs bear shell.
Which of the statement given above is/are correct ?
(1) Only (b) and () (2) Only (a)
(3} Only {¢) and (d) ()  Only (b)
80. SEIGEA __ W Emedia SEIwEe Ve 9 Sradr.
(1) e (2) @ (3) Tor-=ifedtge (1) faswurt
Bryophytes differ from pteridophytes in being _ |
(1)  Vascular (2)  Seeded (3) Non-vascular  (4) Sporephytic
81. I =T MRHEITST INTeA] TR S A 2
(a) Al fagm (b) TR (TYF) () TEHEHH (d) T
FH@UHT FI0AT T/ IS SRET SR ?
(1) (a) 309 (b) e (2)  (b) T (3) (o) ® (4) (d) wH
Which pesticide is used to control powdery mildew ?
(a) Bordo mixture (b) Sulphur (c) Endosulphon  (d) Alum
Which of the option given above is/are correct 7
(1) (a) and (b) only (2) (b)only (3)  (c) only (4) (d) only
82. ATHIA o AR T5a HON e 2
(1) USeR anfe g (2) o (3) TUH A THL (4) dFS
Who proposed the natural system of classification of plants ?
(1) Engler and Prantle  (2)  Bessey (3) Benthom and Hooker (4) Takhtajan

Tl HIWHIS J/ SPACE FOR ROUGH WORK
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83. SietiTERats I’0s (DNA) F WafFs s (RNA) T-e o W TeoTAm
T8,
(1) T o TS SEE (A T
(2) YERTET 3 RICHIE el ThK,
(3)  (BIW) TS JHal HR 0 HeRE Ao Tai.
(4) T VR, (8R) AEZSH Sed WHR A1 wwdie arai e (o o1 ge)
The basic difference in the DNA and RNA is with respect to :
(1) The type of sugar and the type of nitrogenous base.
(2) The type of sugar and phosphoric acid.
(3) Type of nitrogenous base and phospheric acid.
(4) Type of sugar, type of nitrogencus base and number of strands (single or double
stranded).
84. WA T WA AT Siasq & Bl g TaF e B
(1) ¥ g TTFIe 3T,
2) d FuvEE faved .
(3) T WIS RSN §Y WIS §E g Ja.
(4) T 48 M 1A,
Coliforms are used as indicator organisms of sewage pollution because :
(1) They are pathogens.
(2)  They ferment lactose.
(3)  They are abundant in human intestine.
(4) They grow within 48 hrs.
85. 1948 WIS, WA UW WYF FATT EAGY WF FEvES 49 AT S,
(1) =& degs=is 2) 0 Hea
(3) I HA (4) e am
The first transposons were discovered in Zea Mays, in 1948, by _
{1) Barbara McClintock (2) Kary Mullis
(3) Stanley Cohen (4)  Herbert Boyer
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AT, T T 9 1 TUH, §E0 9 09 S0 e - w0 sa AR, oA foane s 3
et S SO¢ 2. eAdehl UF T 9 g @I 3EA. TV O A TR, il S WIaiedHro)
T

Y ;. g GUH HHF Heoron.  cafoet gE #Hieh fHeora,

A9 Aol WYY FHHF Heon. Tve H0 S Heel.,

sAfdwr . O QuH ®HF Mo, I fqay wr e,

ATt FE TS [Heaen ATar ?

(1) dfeen (2) THEQ (3) fam (4) Ffr=a wmar a9 e
Ajinkya, Ramesh and Vaibhav got first, second and third rank. But not in this sequence.

After asking them they replied two answers each. Out of which one is true and other is false.
But not in the same sequence. Their answers are as following,.

Ramesh : | got first rank. Ajinkya got second rank.
Vaibhav : 1 got first rank. Ramesh got second rank.
Ajinkya : | got first rank. Ramesh got third rank.

Which is not the rank of Ajinkya ?
(1)  First (2) Second (3)  Third (4) Can't say detinitely

TEUidte FITEr T SAIS ATE F THA AHE A, A Aoy SR v o,
I (1) e s s s,
()  TERTET S SiFes HitoH e,

Tty 3
(1) % (I) (2) I (1)
(3) &= () 9 (1D) (4) (1) Taan (11) Y6l TRdl A

Study given information and conclusjons based on it. Select logjically correct conclusion/s.
['our men are waiting at the airport. Two are doctors and the other two are businessman.
Two speak Gujarati and (wo speak Tamil. Two are Muslims and two are Christen. No two
men of the same profession are of same religion nor do they speak same language. The Tamil
speaking doctor is a Christen.
Conclusions : (1)  Christen business man speaks Gujarati.

() Gujarati speaking doctor is Muslim.
Answer Options :
(1)  Only (I) (2)  Only (1T}
(3) Both {I) and (1I) (4)  Neither (I) nor (11)
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88. Taoeh oifect srvamer
A, B, C, D 371 E =1 =4kl alildte Tial SWas dis F%T a9ocdl 3TRd. B & D =1 s9aiss
50 T, SoUaT 3R, A & B = <fayiier 60 M. SiaUeR TR, C & D = afyEmet 40 |, SiTe’ 3R
3T E € A =1 39 80 HI, SiaUeR . C A0 E ST FHd FH Siee Al e
Hahsﬁaavhwnﬂwhﬁaa

(1) o Tafemaaor 110 M. &7 S STHOR,
(2)  Ffvaaan 92 . = Halq SIRd 9 SR,
(3) o Tafveunt 91 Het=a wata Sird S9e SR,
@) @ fafs=aad 110 . S8 S FEUR

Study given information :

Persons A, B, C, D and E are sitting on benches in the garden facing north. B is 50 m to the
right of D, A is 60 m to the south of B. C is 40 m to the west of D, and E is 80 m to the north
of A. Select most appropriate option that describes approximate minimum distance between

C and E in metres.

(1) It must be definilely greater than 110 m.
(2) It must be definitely most nearest to 92 m.
{3) It must be definitely most nearest to 91 m.
(4) It must be definitely less than 110 m.

89. Aé’fB%ﬁgwﬂaﬂ% cﬁrA%ﬁaﬁ’maﬂ% Bﬁoﬁwﬂmmﬁacmwm WEAD
e ARy G,
(1) TS 3nfor sy (2) Ho anfn o1
(3) it sufor A= (4) g snfor st

A is a daughter of B, C is a sister of A, B is a daughter of D and E is a brother of C. So what
is the relation between Fand 1D ?

(1)  Brother and sister (2) Daughter and mother
(3) Grand mother and grand daughter (4) Grand son and grand mother

90. U GEYT 5 99 H®A 7 F WA I 2 A, W G AT 4 o HEA 3 I YA IR [t
R
1 5 (2) 6 3 7 (4) 8
By subtracting 5 from a number and dividing it by 7, the answer obtained is 2. Then find the
value, by subtracting 4 from the same number and dividing it by 3.
1 5 (2) ¢ @Gy 7 (4) 8

FoeAl SIS ST/ SPACE FOR ROUGH WORK
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91. A, B, C 370 D & A=A GooaTd 1 ia. =1 T e @H R i wiore T ot
Tl TH Helal, goel 9 e, faa=mer we1 anfor Hiearen a2 fusidl,. A @1 B Y8y o
FHfGT2 el D &1 C a1 & Fione e, stC @ D e feur 9 wfore sra et @
“edia T Sto ¥/ el faumy/H fras,

faur

(a) A @ eHM C Ya s wiers e

(b) C o FHE A = fiered faawl Fiome fvesom 7EH.

(c) D o TreA FEE FIH HI0TAT RIIE] SAHRTIET S HieTs [Hoso] T .
(d) B AEEM A a1 = wiome oo,

T 39
(1) TEHR (a) fHaT (b) (2) wd
(3) TREI ATE (4) I (d)

A, B, C and D are working on Mark’s farm. He gave in all twenty watermelons to all of
them. One of them gol two, another one got four, third one got six, and fourth one got eight.
A got more melons than B and D got fewer melons than C. 1f C gets at least two more melons
than D then select the statement/s that is always true.

Statements :

(a) A will always get more melons than C.

(by  C will never have melons equal to that of A.
(¢) Itis not possible for D to get more melons than any other person working with him.
(d) B will always get [ewer melons than A.

Answer Options :

(1) Either (a) or (b} (2) Al

(3) None (4)  Only (d)

Foll HIHTEES A/ SPACE FOR ROUGH WORK
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92. ¢, 3 C, = S weaEeAde TR 480 faeneAle 4 ATRE STHORAl SRS SHRISTAd HHETT
FUAM IS, I T Med A Frer wifedt [Bio daaw ghiaet $e. C, 3 C, W
weifaseARie frareafd w9 7 o,

T Bekeia | G9e | A |wmREE T
]

C, - - | - 15

<, 120 - 30 -

C, Teaaedrs fwd faaentsd Fam v g S e ?
(1) 195 2y 90 (3) 315 (4) 255
A survey conducted among 480 studenls of two colleges C; and C, regarding the type of

computers they use, resulted in the following data (table), with partial information. It is
known that the ratio of number of students of Cy and that of C, 15 9: 7.

College | Desktop —LWWW
(O8 - - - 15
C, 120 - 30 -
Total - 195 70 40

How many students of college C, have at least one system ?

(1) 195 (2) 90 (3) 315 (4) 255

93. YHeREE SHoed Heurids! 32 et = fiam, 35 At Fiw! fqera anfor 22 Stor =ey afiy

(1) 44 (2) 41 (3) 55 (4) 45

Among participants gathered for seminar 32 persons drink tea, 35 persons drink coffee and
22 persons drink tea and coffee. Select the number of persons gathered for seminar.

(1) 44 (2) 41 (3) 55 (4) 45

hell HTUTHTSH ST/ SPACE FOR ROUGH WORK
P.T.O.
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94. UF I wUHOT AR SR WEHIATER Fow qo HwEEt yaode fert 1 ageq 9 Toea

WANLVAN: o /N
Ry

Select logically appropriate triangular image without changing its position in the plane or
flipping for completing hexagonal image having one part concealed.

4,13, 38, _ 2

. 168, 289, 458,
1 72 (2) 87 (3) 103 (1) 129
Choose the proper option for replacing question mark in the given number series.

4,13, 38, _7__, 168, 289, 458.
(1) 72 () 87 (3) 103 (4} 129

96. HHIG A1 fe. = T 4,700 & fawd 99w, @ME T 800 TR G wol. @M o 35,800 @ fawen
T = &S AR T 7
4 5 )

=% 5—% : % 4 12%
1 4 (2) 57 3 10 @)

Sameer has purchased an old T.V. {or ¥ 4,700 and spent ¥ 800 for its repairing,. He sold it for
T 5,800. Find his percentage prolit.

5 [ ] 0,
(‘l) 4= qfo (2) SH Yo ("’J) 1 0 (}b (4) ] 2 7o

FoeAT HIATETS! M/ SPACE FOR ROUGH WORK
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97. WHM 9 B @iE 80 [l €8 dEced wdre fueg oo 9. o wiEmgHdie e ssee
et g e Ieie Foe I HF STHH 60° | 30° ARA. W @ii=! I+ fHal ?
(1) 20 =l (2) 203 . (3) 60 . (4) 603 H.

Two poles of equal heights are standing opposite cach on either side of the road, which is
80 m wide. From a point between them on the road, the angle of elevation of the top of the

poles are 60° and 307, respectively. What is the height of the poles ?
(1) 20m (2} 20¥3m (3) 60m 4) 60J3m

98. WH@W 1WWWWW7
3,7, 15, 31, x, 127, 255, 511
(1) 59 (2) 60 (3) 62 (4) 63
Find the value of x in Lhe following sequence.
3, 7,15, 31, x, 127, 255, 511
(1) 59 (2) 60 (3) 62 (4) 63

99, WWWWWWWS 5 aﬂ% 7 AU A 99 U 11 ; 16 BEE. W
faeft= amer =g F ?
1 15 a9 2y 25 = @y 11 = (4) 40 =d
The present ages of Swati and Priti are in the ratio 3: 5. After 7 years they will be in the ratio
11:16. The present age of Priti is :
(1) 15 years (2) 25 vears (3) 11 years (4) 40 years

100. m@ﬁmﬂqaﬂﬁﬁm@o wﬁﬁm@wwmawmmm?s IR, WA
R fopdt 7
(1) ¥ 3,000 (2) T 4,000 (3) T 5,000 4) 6,000
The difference between the compound interest and simple interest for 2 years at 4% p.a. on
a certain sum is ¥ 8. Find the sum.

(1) % 3,000 (2) T 4,000 (3) % 5,000 4 % 6,000

-0Qo-
oAl HTHrEE ST/ SPACE FOR ROUGH WORK
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TN — (U 1 67 0L, )

(&) wrTyfEsa fafen oyl fafere =mil| o=t &m (7% %) FE. gEqieereriaied saveiiear a1 T
FREL i HH Hedld o FH0 F0IT T H0 A6, 575 TS W0 J AR IHaRER A
Wi Foea whEe g Trwmra gy srymEme dfafee-g2 " ade wEEan sran S
AT 9 S S IS Uk qYTEAT FRIGTEIA S0/ T 5% U geR e Serel e 9 i,

(9) TRT WEFIAREIS #EAm ffen FI9 G SOy SHEAN 6 QeAgiaE Ea: A TiaTmaraet 9o
UGG AT TS, AT TR STUETgE IS MUEET SHMAeR . Y- 1 AUdadeRs I

W.eh. 201.

. %h. 201,

HAT 991
(1)  T8Hl g5 Hiwm (2) Tvaras [T
@) TS AR T () TrTEEE TrEe

7 AT A G (3) T uFEed W90 o SR ®@me W e I (%)) e e
e Y %, 201 T 3aeEaE @) ¥ e Pl wEifd Fed e e

ONON RO
ST TG T WA © e T e ST B e T Jiee Squtnade
T T, Ui o vTEe U | T4

FoAT HHETS ST/ SPACE FOR ROUGH WORK




